g
a

g
n

N
=

- 1:1 plot

Predicted (Eq. 10) Oy, p (m* m?)
1=
()

2 (2)
0 wda no. 1
0.1 Onapr, = 0.15
0.0

0.0 0.2 0.4 0.6

Measured 0y, p;, (M3 m3)

S
)

S
n

e
=

- 1:1 plot

e
[

Predicted (Eq. 10) 0y ,p; (m* m)

0.2 (b)
wda no. 2
0.1 OnapL, = 0.20
0.0
0.0 0.2 0.4 0.6

Measured Oy, p;, (m* m3)

S
=N

S
n

N
=

S
()

S
)

e
—

Predicted (Eq. 10) Oy ,p; (m3 m3)

S
2

0.0 0.2 0.4 0.6
Measured Oy, p;, (m* m3)

S
2

et
n

N
i

S
(%)

e
[

Predicted (Eq. 10) 8y,p, (m* m™)
= =]
< w

0.0 0.2 0.4 0.6
Measured 0y ,p;, (m* m3)

0.6

=
g 0.5
=

E 0.4 - 1:1 plot
D
503

&
= 02 ()
= d .1
2 0.1 OW a _“0"35
% NapL~ Y-
0.0
&~ 00 0.2 0.4 0.6

Measured 0y, p;, (m* m3)

S
2

S
n

N
i

S
(&)

e
[

Oxapp = 0.40

Predicted (Eq. 10) 8 ,p (m* m™)
[(—)
W

e
=

0.0 0.2 0.4 0.6

Measured Oy ,p, (M3 m3)





